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BC180200631: SHAHBAZ MANZOOR

STA304:Quiz 2

Question # 6 of 10 ( Start time: 10-15:00 PM. 01 August 2019)

[The method of moving average is used to find the:

Select the correct option

Secular trend

Seasonal variations

Cyciical variations

Iegular variations
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BC180203033: UMER FAROOQ

STA304:Quiz 2

Question # 8 of 10 ( Start time: 10:49:47 PM. 31 July 2019 )

[The trend can be found by the method of least squares.

Select the correct option

[Fthe nature of the trend is not known

(¢]

[Fthe nature of trend is known

(¢]

[Fthe trend is not linear

[Fthe trend is inear
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BC180203033: UMER FAROOQ

STA304:Quiz 2

Question #9 of 10 ( Start time: 105121 PM. 31 July 2019)

[The number of normal equations in case of second degrees parabola are:

Select the correct option

[Three

[Two

Four

Five
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BC180203033: UMER FAROOQ

STA304:Quiz 2

Question # 10 of 10 ( Start time: 10:51:33 PM. 31 July 2019)

[To get deseasonalized data, we divide each value in the original data by the corresponding value of-

Select the correct option

Moving-Average

Seasonal index
Original index
Chain relatives
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BC180200019:

STA304:Quiz 2

Question # 1 of 10 ( Start time: 02:45:25 PM. 01 August 2019)

[The total number of missing abservations in case of 4 years moving average is

Select the correct option
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BC180200019: MUHAMMAD ASIF

STA304:Quiz 2

Question #2 of 10 ( Start time: 02:47:06 PM. 01 August 2019)

I a time series has an even number of years and we use coding, then each code interval is equal to

Select the correct option

Tyear

[2years
(e]

T month
(e]

6 months
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STA304:Quiz 2

Question #3 of 10 ( Start time: 02:48:55 PM. 01 August 2019)

IfY, = 89.5 + 1.6X, here X = 15; What is the value of Y,

Select the correct option

1155

(¢)
135

L)
1145

(¢)
1055

(¢)
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STA304:Quiz 2

Question # 4 of 10 ( Start time: 02:49:07 PM. 01 August 2019)
|3qnsemm¥ 10+3x describes well an annual time series for 1987-1993. If the actual value of Y for 1930 is 8, what s the value of trend for 19907

Select the correct option
34

48

(¢]

50
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BC180200019: MUHAMMAD ASIF

STA304:Quiz 2

Question #5 of 10 ( Start time: 02:50:32 PM. 01 August 2019
The second degres parabola i fitted to the time series when the variations are:

Select the correct option
Linear

Nonlinear
(¢)

Random
(¢)

Downward
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BC180200019: MUHAMMAD ASIF

STA304:Quiz 2

Question # 6 of 10 ( Start time: 02:51:09 PM. 01 August 2019

[Seasonal adjustment of data is also called the:

Select the correct option

Ratio-to-Trend Method

(¢]

Link-Relative Method

(¢]

Ratio-to-Moving-Average Method

Deseasonalization
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BC180200019: MUHAMMAD ASIF

STA304:Quiz 2

Question #7 of 10 ( Start time: 02:51:19 PM. 01 August 2019)

Ifa straight line is fitted to the time series, then:

Select the correct option
YY=yY

(¢)
YY<YY

(¢)
YY>YY

(¢)
-

x¥-v)
L)
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BC180200631: SHAHBAZ MANZOOR

STA304:Quiz 2

Question #7 of 10 ( Start time: 10:16:11 PM. 01 August 2019)
[The most commonly used mathematical method for measuring the trend is:

Select the correct option
Moving average method

Semi average method

(¢]

Method of least squares

None of them
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BC180200019: MUHAMMAD ASIF

STA304:Quiz 2

Question # 8 of 10 ( Start time: 02:52:08 PM. 01 August 2019)

In time-series analysis, which source of variation can be estimated by the ratio-to-moving-average?

Select the correct option

Cyciical variations

(¢]

Secular trend

(¢]

Seasonal variations

Iegular variations
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BC180200019: MUHAMMAD ASIF

STA304:Quiz 2

Question #9 of 10 ( Start time: 02:52:57 PM. 01 August 2019)

In fitting of straight line 7 (i —?)z

Select the correct option

Al the observed Y values lie on the line.

Allthe Y values are greater than corresponding values

Allthe Y values are positive

None of them
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Question # 10 of 10 ( Start time: 02:54:04 PM. 01 August 2019 )

[A second degree parabola has

Select the correct option

One constant

[Two constant

[Three constant

No constant
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Question # 8 of 10 ( Start time: 10:16:29 PM. 01 August 2019)

[To get deseasonalized data, we divide each value in the original data by the corresponding value of-

Select the correct option

Moving-Average

Seasonal index

Original index

Chain relatives
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STA304:Quiz 2 Quiz

Question #9 of 10 ( Start time: 10:17:42 PM. 01 August 2019)
|sw:senmv 10+3x describes well an annual time series for 1987-1993.If the actual value of Y for 1990 s 8. what is the value of trend for 1907

Select the correct option
34

48

(¢]

50
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BC180200297: MEHWISH RAUF

STA304:Quiz 2

Question # 1 of 10 ( Start time: 10-20:58 PM. 01 August 2019)
[The method of moving average is used to find the:

Select the correct option
Secular trend

Seasonal variations

Cyciical variations

Iegular variations
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BC180200297: MEHWISH RAUF

STA304:Quiz 2

Question # 1 of 10 ( Start time: 10-20:58 PM. 01 August 2019)

[The method of moving average is used to find the:

Select the correct option

Secular trend

Seasonal variations

Cyciical variations

Iegular variations
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BC180200297: MEHWISH RAUF

STA304:Quiz 2 Quiz Start Tim

Question #2 of 10 ( Start time: 10-21:43 PM. 01 August 2019)
|3“meﬂmln ‘particular time series should be fitted with a parabolic curve. The general form for this second degree equation is What o the x's represent in this formula?

Select the correct option
Coded values of the time variables

[Anumerical constant that is determined by a formula

(¢]

Estimates of the dependent variable

None of the above
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BC180200297: MEHWISH RAUF

STA304:Quiz 2

Question # 4 of 10 ( Start time: 10:22:49 PM. 01 August 2019)

[The best fiting trend is one which the sum of squares of residuals is

Select the correct option

Negative

Zero

Maximum
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BC180200297: MEHWISH RAUF

STA304:Quiz 2

Question #5 of 10 ( Start time: 10-23:16 PM. 01 August 2019)

The number of normal equations in case of second degrees parabola are:

Select the correct option

Three

Two
(¢)

Four
(¢)

Five
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BC180200297: MEHWISH RAUF

STA304:Quiz 2

Question # 6 of 10 ( Start time: 10-23:44 PM. 01 August 2019)
[The trend can be found by the method of least squares.

Select the correct option
fthe nature ofthe trend is not known.

(¢]

[Fthe nature of trend is known

(¢]

[Fthe trend is not linear

[Fthe trend is inear
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BC180200297: MEHWISH RAUF

STA304:Quiz 2

Question #7 of 10 ( Start time: 10-23:58 PM. 01 August 2019)

In & straight ine equation Y = a + bX: bis the:

Select the correct option

[Y-intercept

Slope

[intercept

Trend
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BC180200297: MEHWISH RAUF

STA304:Quiz 2

Question # 8 of 10 ( Start time: 10-24:14 PM. 01 August 2019)

In time series seasonal variations can occur within a period of-

Select the correct option

Fouryears

[Three year
(¢)

One year
L)

Nine years|
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BC180200297: MEHWISH RAUF

STA304:Quiz 2

Question #9 of 10 ( Start time: 10-24:29 PM. 01 August 2019

[What will be the value of seasonal index for the second quarter from the following table?

Year Quarter Total
Lom v
Mean 100 12532 151.05 109.28 485.65

Select the correct option

824

1032
L)

1244
(¢)

500
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BC180200297: MEHWISH RAUF

STA304:Quiz 2

Question # 10 of 10 ( Start time: 10:25:34 PM. 01 August 2019 )

[Suppose that Y = 10+3x describes well an annual time series for 1987-1983. f the actual value of Y for 1990 is 8. what is the value of trend for 19907

Select the correct option

48

50
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BC180201646: ABDUL WAHEED

STA304:Quiz 2

Question # 1 of 10 ( Start time: 10-28:13 PM. 01 August 2019)
Changes in the population are the resut of events like:

Select the correct option
Distribution of people

(¢]

Deaths and biths
Examinations.
[Vital statistics
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BC180201646: ABDUL WAHEED

STA304:Quiz 2

Question #2 of 10 ( Start time: 10-29:21 PM. 01 August 2019)
[The straight line s fitted to the time series when the movements in the time series are:

Select the correct option
Nonlinear

(¢]

Linear
L)

Imegular
(¢)

Upward
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BC180201646: ABDUL WAHEED

STA304:Quiz 2

Question #3 of 10 ( Start time: 10-29:46 PM. 01 August 2019

[The number of normal equations in case of second degrees parabola are:

Select the correct option

[Three

[Two

Four

Five
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BC180201646: ABDUL WAHEED

STA304:Quiz 2

Question #4 of 10 ( Start time: 10:30:12 PM. 01 August 2019)

[To get deseasonalized data, we divide each value in the original data by the corresponding value of-

Select the correct option

Moving-Average

Seasonal index

Original index

Chain relatives
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BC180201646: ABDUL WAHEED

STA304:Quiz 2

Question #5 of 10 ( Start time: 10:30:25 PM. 01 August 2019)

[The best fiting trend is one which the sum of squares of residuals is

Select the correct option

Negative

Zero

Maximum
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BC180201646: ABDUL WAHEED

STA304:Quiz 2

Question # 6 of 10 ( Start time: 10:30:33 PM. 01 August 2019)

[The number of missing observations in case of 7 years moving average is

Select the correct option





image26.png
Bl TOUSUTDAD. ABLIUL viamEsLs

STA304:Quiz 2

Question #7 of 10 ( Start time: 10:30:48 PM. 01 August 2019)

[The trend can be found by the method of least squares.

Select the correct option

[Fthe nature of the trend is not known

(¢]

[Fthe nature of trend is known

(¢]

[Fthe trend is not linear

[Fthe trend is inear
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BC180201646: ABDUL WAHEED

STA304:Quiz 2

Question # 8 of 10 ( Start time: 10:30:59 PM. 01 August 2019)
[Value of b in the trend ine Y = & = bX is

Select the correct option
[Always negative:

[Always positive

[Always zero

Both negative and positive
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BC180201646: ABDUL WAHEED

STA304:Quiz 2

Question #9 of 10 ( Start time: 10:31:10 PM. 01 August 2019)

[The total number of missing abservations in case of 4 years moving average is

Select the correct option

n
L)

B
(¢)

g
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BC180201646: ABDUL WAHEED

STA304:Quiz 2

Question # 10 of 10 ( Start time: 10:31:23 PM. 01 August 2019

I an annual time series consisting of even number of years is coded. then each coded interval is equal to

Select the correct option

Half year

One year

Both half year and one year

[Two years
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STA304:Quiz 2

Question # 1 of 10 ( Start time: 10:32:31 PM. 01 August 2019)

[A second degree parabola has

Select the correct option

One constant

[Two constant

[Three constant

No constant
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BC170405984: SIDRA YASMEEN

STA304:Quiz 2

Question #2 of 10 ( Start time: 10:32:41 PM. 01 August 2019)

Changes in the population are the resut of events like:

Select the correct option

Distribution of people

(¢]

Deaths and biths
Examinations.
[Vital statistics
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BC170405984: SIDRA YASMEEN

STA304:Quiz 2 Quiz ¢

Question #3 of 10 ( Start time: 10:33:39 PM. 01 August 2019)
|sw:senmv 10+3x describes well an annual time series for 1987-1993.If the actual value of Y for 1990 s 8. what is the value of trend for 1907

Select the correct option
34

48
(¢)

50
(¢)

32
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BC170405984: SIDRA YASMEEN

STA304:Quiz 2

Question # 4 of 10 ( Start time: 10:33:48 PM. 01 August 2019)

[What will be the value of seasonal index for the first quarter from the following table?
Year Quarter  Total

(I T
Mean 8077 11423 8873 11440 398.13

Select the correct option

8115

1477
(¢)

89,15
(¢)

11494
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BC170405984: SIDRA YASMEEN

STA304:Quiz 2

Question #5 of 10 ( Start time: 10:34:47 PM. 01 August 2019)

Moving average method is used for messurement of trend when:

Select the correct option

[Trend s linear

[Trend is Non-linear

(¢]

[Trend is curviiinear

None of them
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BC170405984: SIDRA YASMEEN

STA304:Quiz 2

Question # 6 of 10 ( Start time: 10:35:08 PM. 01 August 2019)

[The difference between the actual value of the time series and the forecasted value i called

Select the correct option

Residual

Sum of variation

Sum of squares of residual

[Allof the above.
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BC170405984: SIDRA YASMEEN

STA304:Quiz 2

Question #7 of 10 ( Start time: 10:35:19 PM. 01 August 2019)

[What will be the value of seasonal index for the third quarter from the following table?
Year Quarter Total

[N
Mean 7801120 9087 11683 397.70

Select the correct option

7845

11265
(¢)

9140
L)

11751
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STA304:Quiz 2

Question # 8 of 10 ( Start time: 10:36:42 PM. 01 August 2019)

[What will be the value of seasonal index for the second quarter from the following table?

Year Quarter Total
[ TN
Mean 100 12532 151.05 109.28 485.65

Select the correct option

524

1032

1244

500
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BC170405984: SIDRA YASMEEN

STA304:Quiz 2

Question #9 of 10 ( Start time: 10:37:33 PM. 01 August 2019)

IfY, = 89.5 + 1.6X, here X = 15; What is the value of Y,

Select the correct option

1155

(¢)
135

L)
1145

(¢)
1055

(o]
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BC170405984: SIDRA YASMEEN

STA304:Quiz 2

Question # 10 of 10 ( Start time: 10:37:43 PM. 01 August 2019

I an annual time series consisting of even number of years is coded. then each coded interval is equal to

Select the correct option

Half year

One year

Both half year and one year

[Two years
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STA304:Quiz 2

Question # 1 of 10 ( Start time: 10:39:25 PM. 01 August 2019

In time-series analysis, which source of variation can be estimated by the ratio-to-moving-average?

Select the correct option

Cyciical variations

(¢]

Secular trend

(¢]

Seasonal variations

Iegular variations
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BC180200344: HAFIZA ASIA AIMAN YASMEEN

STA304:Quiz 2

Question #2 of 10 ( Start time: 10-40:35 PM. 01 August 2019)

IfY, = 89.5 + 1.6X, here X = 15; What is the value of Y,

Select the correct option

1155

(¢)
135

L)
1145

(¢)
1055

(¢)
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Question #3 of 10 ( Start time: 10-41:08 PM. 01 August 2019)

Inratio — to — moving — average method, the seasonal indices are obtained by :

Select the correct option

1ScL 100

Tsc1
22l x 100

Tsc1
2L % 100

None of them
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BC180200344: HAFIZA ASIA AIMAN YASMEEN

STA304:Quiz 2

Question #4 of 10 ( Start time: 10:41:26 PM. 01 August 2019)
[The number of normal equations in case of second degrees parabola are:

Select the correct option
[Three

[Two

Four

Five
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BC180200344: HAFIZA ASIA AIMAN YASMEEN

STA304:Quiz 2

Question #5 of 10 ( Start time: 10:41:40 PM. 01 August 2019

[The best fiting trend is one which the sum of squares of residuals is

Select the correct option

Negative

Zero

Maximum
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BC180200344: HAFIZA ASIA AIMAN YASMEEN

STA304:Quiz 2

Question # 6 of 10 ( Start time: 10:41:51 PM. 01 August 2019)

[The most commonly used mathematical method for measuring the trend is

Select the correct option

Moving average method

(¢]

Semi average method

(¢]

Method of least squares

None of them
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STA304:Quiz 2

Question # 1 of 10 ( Start time: 10:12:37 PM. 01 August 2019)

IfY, = 89.5 + 1.6X, here X = 15; What is the value of Y,

Select the correct option

1155

(¢)
135

L)
1145

(¢)
1055

(¢)
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Question #7 of 10 ( Start time: 10:42:40 PM. 01 August 2019
I an annual time series consisting of even number of years is coded. then each coded interval is equal to

‘Select the correct option
Half year

One year

Both half year and one year

[Two years

Click to Save A
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STA304:Quiz 2

Question # 8 of 10 ( Start time: 10:42:57 PM. 01 August 2019)

In time series seasonal variations can occur within a period of-

Select the correct option

Fouryears

[Three year
(¢)

One year
L)

Nine years|
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Question #9 of 10 ( Start time: 10:43:09 PM. 01 August 2019)

[The difference between the actual value of the time series and the forecasted value i called

Select the correct option

Residual

Sum of variation

Sum of squares of residual

[Allof the above.
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STA304:Quiz 2

Question # 10 of 10 ( Start time: 10:43:20 PM. 01 August 2019 )

In fiting & straight ine. the value of slope b remains unchanged with the change of:

Select the correct option

Scale

Origin
Both scale and origin
Neither scale nor origin
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BC180205219: IMRAN FAROOQ

STA304:Quiz 2

Question # 1 of 10 ( Start time: 10:49:59 PM. 01 August 2019)

[The number of missing observations in case of 7 years moving average is

Select the correct option
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STA304:Quiz 2

Question #2 of 10 ( Start time: 10:50:12 PM. 01 August 2019)

[The method of moving average is used to find the:

Select the correct option

Secular trend

Seasonal variations

Cyciical variations

Iegular variations
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BC180205219: IMRAN FAROOQ

STA304:Quiz 2

Question #3 of 10 ( Start time: 10:50:31 PM. 01 August 2019)

Ifa straight line is fitted to the time series, then:

‘Select the correct option
YY=yY

(¢)
YY<YY

(¢)
YY>YY

(¢)
-

x¥-v)
L)
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BC180205219: IMRAN FAROOQ

STA304:Quiz 2

Question # 4 of 10 ( Start time: 10:50:53 PM. 01 August 2019)

[Value of b in the trend line Y = a + bX is

Select the correct option

[Always negative:

[Always positive

[Always zero

Both negative and positive
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BC180205219: IMRAN FAROOQ

STA304:Quiz 2

Question #5 of 10 ( Start time: 10:51:10 PM. 01 August 2019)

[To get deseasonalized data, we divide each value in the original data by the corresponding value of-

Select the correct option

Moving-Average

Seasonal index
Original index
Chain relatives
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BC180205219: IMRAN FAROOQ

STA304:Quiz 2

Question # 6 of 10 ( Start time: 10:51:47 PM. 01 August 2019)

Deseasonalized data contain the effect of trend, cyclical and:

Select the correct option

Iegular components

Moving-Average

(¢]

Original index

Deseasonalization
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STA304:Quiz 2

Question #2 of 10 ( Start time: 10:13:08 PM. 01 August 2019)

[What will be the value of seasonal index for the first quarter from the following table?
Year Quarter  Total

(I T
Mean 8077 11423 8873 11440 398.13

Select the correct option

8115

1477

89,15

11494
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BC180205219: IMRAN FAROOQ

STA304:Quiz 2

Question #7 of 10 ( Start time: 10:52:07 PM. 01 August 2019)

[The trend can be found by the method of least squares.

Select the correct option

[Fthe nature of the trend is not known

(¢]

[Fthe nature of trend is known

(¢]

[Fthe trend is not linear

[Fthe trend is inear
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Question # 8 of 10 ( Start time: 10:52:33 PM. 01 August 2019

Changes in the population are the resut of events like:

Select the correct option

Distribution of people

(¢]

Deaths and biths
Examinations.
[Vital statistics
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BC180205219: IMRAN FAROOQ

STA304:Quiz 2

Question #9 of 10 ( Start time: 10:53:14 PM. 01 August 2019)

[The best fiting trend is one which the sum of squares of residuals is

Select the correct option

Negative

Zero

Maximum





image59.png
BC180205219: IMRAN FAROOQ

STA304:Quiz 2

Question # 10 of 10 ( Start time: 10:54:26 PM. 01 August 2019 )

I an annual time series consisting of even number of years is coded. then each coded interval is equal to

Select the correct option

Half year

One year

Both half year and one year

[Two years
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BC180204745: MAZHAR HUSSAIN

STA304:Quiz 2

Question # 1 of 10 ( Start time: 10:59:39 PM. 01 August 2019)

[Atrend is the better fitted trend for which the sum of squares of residuals is:

Select the correct option

Maximum

Minimum

Positive

Negative
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Question #2 of 10 ( Start time: 10:59:50 PM. 01 August 2019)

[The long term trend of a time series graph appears to be:

Select the correct option

Straight-ine

(¢]

Upward

(¢]

Downward

Parabolic curve or third degree curve.





image62.png
BC180204745: MAZHAR HUSSAIN
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Question #3 of 10 ( Start time: 11:00:05 PM. 01 August 2019)

In fitting of straight line 7 (i —?)z

Select the correct option

Al the observed Y values lie on the line.

Allthe Y values are greater than corresponding values

Allthe Y values are positive
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Question #5 of 10 ( Start time: 11:01:33 PM. 01 August 2019

[The difference between the actual value of the time series and the forecasted value i called

Select the correct option

Residual

Sum of variation

Sum of squares of residual

[Allof the above.
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Question # 6 of 10 ( Start time: 11:02:12 PM. 01 August 2019)
f number of bags of a certain fertizer for Quarter is 79 and its seasonal index is 76 45 then deseasonalized value is

Select the correct option
151

101

118

112
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Question #7 of 10 ( Start time: 11:02:31 PM. 01 August 2019)

IfY, = 89.5 + 1.6X, here X = 15; What is the value of Y,

Select the correct option

1155

(¢)
135

L)
1145

(¢)
1055

(o)





image3.png
BC180200631: SHAHBAZ MANZOOR

STA304:Quiz 2

Question #3 of 10 ( Start time: 10:13:45 PM. 01 August 2019)

[Seasonal adjustment of data is also called the:

Select the correct option

Ratio-to-Trend Method

(¢]

Link-Relative Method

(¢]

Ratio-to-Moving-Average Method

Deseasonalization
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Question # 8 of 10 ( Start time: 11:02:53 PM. 01 August 2019

[The straight line is fitted to the time series when the movements in the time series are:

Select the correct option

Nonlinear

(¢]

Linear

Imegular

Upward
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Question #9 of 10 ( Start time: 11:03:47 PM. 01 August 2019)

[The number of normal equations in case of second degrees parabola are:

Select the correct option

[Three

[Two

Four

Five
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Question # 10 of 10 ( Start time: 11:04:30 PM. 01 August 2019 )

Changes in the population are the resut of events like:

Select the correct option

Distribution of people

(¢]

Deaths and biths

(¢]

Examinations.

[Vital statistics
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Question # 1 of 10 ( Start time: 11:06:07 PM. 01 August 2019)

IfY, = 89.5 + 1.6X, here X = 15; What is the value of Y,

Select the correct option

1155

(¢)
135

L)
1145

(¢)
1055

o)
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Question #2 of 10 ( Start time: 11:06:17 PM. 01 August 2019)

Inratio — to — moving — average method, the seasonal indices are obtained by :

Select the correct option
L < 100
L)
e < 100
(¢)
L < 100
(¢)
None of them
(¢)





image71.png
BC180203680: MUHAMMAD BILAL

STA304:Quiz 2

Question #3 of 10 ( Start time: 11:06:45 PM. 01 August 2019)

[Value of b in the trend line Y = a + bX is

Select the correct option

[Always negative:

[Always positive

[Always zero

Both negative and positive
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Question # 4 of 10 ( Start time: 11:06:54 PM. 01 August 2019)

[What will be the value of seasonal index for the second quarter from the following table?

Year Quarter Total
Lom v
Mean 100 12532 151.05 109.28 485.65

Select the correct option

824

1032
L)

1244
(¢)

500
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Question #5 of 10 ( Start time: 11:07:50 PM. 01 August 2019)

[The number of missing observations in case of 7 years moving average is

Select the correct option
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Question # 6 of 10 ( Start time: 11:08:03 PM. 01 August 2019)

[The difference between the actual value of the time series and the forecasted value i called

Select the correct option

Residual

Sum of variation

Sum of squares of residual

[Allof the above.
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Question #7 of 10 ( Start time: 11:08:12 PM. 01 August 2019)

I an annual time series consisting of even number of years is coded. then each coded interval is equal to

Select the correct option

Half year

One year

Both half year and one year

[Two years
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Question #4 of 10 ( Start time: 10:14:09 PM. 01 August 2019

[Value of b in the trend line Y = a + bX is

Select the correct option

[Always negative:

[Always positive

[Always zero

Both negative and positive
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Question # 8 of 10 ( Start time: 11:08:32 PM. 01 August 2019)

In fitting of straight line 7 (i —?)z 0

Select the correct option

Al the observed Y values lie on the line.

Allthe Y values are greater than corresponding values

Allthe Y values are positive

None of them
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Question #9 of 10 ( Start time: 11:08:44 PM. 01 August 2019)

Seasonal adjustment of data is also called the:

Select the correct option

Ratio-to-Trend Method

(¢]

Link-Relative Method

(¢]

Ratio-to-Moving-Average Method

Deseasonalization
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Question # 10 of 10 ( Start time: 11:09-14 PM. 01 August 2019 )

[The number of normal equations in case of second degrees parabola are:

Select the correct option

[Three

[Two
(¢)

Four
(¢)

Five
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Question # 1 of 10 ( Start time: 09:55:17 PM. 01 August 2019)

[Which of the method is not an example of seasonal variation analysis?

Select the correct option

Ratio-to-trend method

Ratio-to-moving average
Link Relative
Moving Average
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Question # 2 of 10 ( Start time: 09:56:49 PM. 01 August 2019)

[What will be the value of seasonal index for the first quarter from the following table?
Year Quarter  Total

(I T
Mean 8077 11423 8873 11440 398.13

Select the correct option

8115

1477
(¢)

89,15
(¢)

11494
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Question #3 of 10 ( Start time: 09:58:20 PM. 01 August 2019)

In time series seasonal variations can occur within a period of-

Select the correct option

Fouryears

[Three year
(¢)

One year
L)

Nine years|
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Question # 4 of 10 ( Start time: 09:58:43 PM. 01 August 2019)

[ number of bags of a certain fertiizer for QuarterT is 79 and ts seasonal index is 7845 then deseasonalized value is:

Select the correct option

151

101

118

112
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Question #5 of 10 ( Start time: 09:59:52 PM. 01 August 2019)

[The long term trend of a ime series graph appears to be:

Select the correct option

Straight-ine
(¢)

Upward

(¢]

Downward

Parabolic curve or third degree curve.
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Question # 6 of 10 ( Start time: 10:00:56 PM. 01 August 2019)

[The process of removing the seasonal component from a time series is called:

Select the correct option

Ratio-to-Moving-Average Method

(¢]

Deseasonalization

Ratio-to-Trend Method

Link-Relative Method
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Question #7 of 10 ( Start time: 10:01:42 PM. 01 August 2019

[The number of normal equations in case of second degrees parabola are:

Select the correct option

[Three

[Two

Four

Five
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Question # 6 of 10 ( Start time: 10-15:00 PM. 01 August 2019)

[The method of moving average is used to find the:

Select the correct option

Secular trend

Seasonal variations

Cyciical variations

Iegular variations





image86.png
BC170403484: MUHAMMAD KHAWAR ABBAS

STA304:Quiz 2

Question # 8 of 10 ( Start time: 10-01:55 PM. 01 August 2019)

In & straight ine equation Y = a + bX: a is the:

Select the correct option

[Xintercept

Slope

[Y-intercept

None of them
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Question #9 of 10 ( Start time: 10:02:41 PM. 01 August 2019)

In fitting of straight line 7 (i —?)z =

Select the correct option

Al the observed Y values lie on the line.

Allthe Y values are greater than corresponding values

Allthe Y values are positive

None of them
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Question # 10 of 10 ( Start time: 10:03:06 PM. 01 August 2019

[The second degree parabola is fitted to the time series when the variations are:

Select the correct option

Linear

Nonlinear
L)

Random
(¢)

Downward
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Question # 1 of 10 ( Start time: 10:4151 PM. 31 July 2019 )

Deseasonalized data contain the effect of trend, cyclical and:

Select the correct option

Iegular components

Moving-Average

(¢]

Original index

Deseasonalization
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Question #2 of 10 ( Start time: 10:43:33 PM. 31 July 2019)

Seasonal adjustment of data is also called the:

Select the correct option

Ratio-to-Trend Method

(¢]

Link-Relative Method

(¢]

Ratio-to-Moving-Average Method

Deseasonalization
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Question #3 of 10 ( Start time: 10:45:13 PM. 31 July 2019 )

IfY, = 89.5 + 1.6X, here X = 15; What is the value of Y,

Select the correct option

1155

(¢)
135

L)
1145

(¢)
1055

(o]
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Question #4 of 10 ( Start time: 10:45:59 PM. 31 July 2019 )

Select the correct option

Coded values of the ime variables

[Anumerical constant that is determined by a formula

Estimates of the dependent variable

None of the above
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Question #5 of 10 ( Start time: 10:47:27 PM. 31 July 2019 )
[A second degree parabola has

Select the correct option
One constant

[Two constant
(¢)

[Three constant
(¢)

No constant
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Question # 6 of 10 ( Start time: 10:48:26 PM. 31 July 2019 )

I an annual time series consisting of even number of years is coded. then each coded interval is equal to

Select the correct option

Half year

One year

Both half year and one year

[Two years
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Question #7 of 10 ( Start time: 10:48:52 PM. 31 July 2019 )

Inratio — to — moving — average method, the seasonal indices are obtained by :

‘Select the correct option
L < 100
L)
e < 100
(¢)
L < 100
(¢)
None of them
(¢)





